The Sieve of Eratosthenes
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We are going fo use the Sieve of Eratosthenes to find all the prime numbers up 150.

Start by co|ouring in the number 2. All the other mu|+ip|es of 2 are not prime, so draw

a diogono| line Jrhrough them with the same colour to show this.

Choose another colour to find the next uncrossed number (it should be 3). Colour it in.

Draw a line erough all of its mu|’rip|es.

Continue this process until all numbers are coloured, or crossed out.

Questions

A prime number has no factors other than 1 and itself. List all the prime numbers up

to 150.

A composite number can be written as the produc’r of two whole numbers other than

1 and itself. Show that the fo”owing numbers are composite:

28 35 42

56 ol 120

uQ is not reo”\/ a prime numloer becouse OH Jrhe OH’]QFS are Odd.” DO You agree or

disogree? Juerh(y your answer.

Find the |orges+ prime numbers you can before the end of the lesson. Be prepored to

defend your answer.



